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QUESTION 1

Given the code fragment: 

List nums = Arrays.asList (10, 20, 8): 

System.out.println ( 

//line n1 

); 

Which code fragment must be inserted at line n1 to enable the code to print the maximum number in the 

nums list? 

A. nums.stream().max(Comparator.comparing(a -> a)).get() 

B. nums.stream().max(Integer : : max).get() 

C. nums.stream().max() 

D. nums.stream().map(a -> a).max() 

Correct Answer: A 

 

QUESTION 2

Given the content of the employee.txt file: 

Every worker is a master. 

Given that the employee.txt file is accessible and the file allemp.txt does NOT exist, and the code 

fragment: 

What is the result? 

A. Exception 1 
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B. Exception 2 

C. The program executes, does NOT affect the system, and produces NO output. 

D. allemp.txt is created and the content of employee.txt is copied to it. 

Correct Answer: A 

 

QUESTION 3

Which two reasons should you use interfaces instead of abstract classes? (Choose two.) 

A. You expect that classes that implement your interfaces have many common methods or fields, or require access
modifiers other than public. 

B. You expect that unrelated classes would implement your interfaces. 

C. You want to share code among several closely related classes. 

D. You want to declare non-static on non-final fields. 

E. You want to take advantage of multiple inheritance of type. 

Correct Answer: BE 

Reference: https://books.google.com.br/books?id=nS2tBQAAQBAJandpg=PT235andlpg=PT235anddq=You +want+to+
share+code+among+several+closely+related+classes.andsource=blandots=3oYOu2XXNandsig=uVFS0KB15BqyEggh
XnnjJSUdcrEandhl=pt-BRandsa=Xandved=0ahUKEwjlsKen6baAhVEhZAKHeiEDTgQ6AEIMDAB#v=onepageandq=Yo
u%20want%20to%20share%20code%20among %20several%20closely%20related% 20classes.andf=false 

 

QUESTION 4

Given: 

final class Folder { //line n1 //line n2 public void open () {

 System.out.print(“Open”);

 } } public class Test {

 public static void main (String [] args) throws Exception { try (Folder f = new Folder()) { f.open(); } } } 

Which two modifications enable the code to print Open Close? (Choose two.) 

A. Replace line n1 with: class Folder implements AutoCloseable { 

B. Replace line n1 with: class Folder extends Closeable { 

C. Replace line n1 with: class Folder extends Exception { 

D. At line n2, insert: final void close () { System.out.print("Close"); } 

E. At line n2, insert: 
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public void close () throws IOException { 

System.out.print("Close"); 

} 

Correct Answer: AE 

 

 

QUESTION 5

Given the code fragment: 

Path source = Paths.get ("/data/december/log.txt"); 

Path destination = Paths.get("/data"); Files.copy (source, destination); 

and assuming that the file /data/december/log.txt is accessible and contains: 

10-Dec-2014 - Executed successfully 

What is the result? 

A. A file with the name log.txt is created in the /data directory and the content of the /data/december/log.txt file is copied
to it. 

B. The program executes successfully and does NOT change the file system. 

C. A FileNotFoundException is thrown at run time. 

D. A FileAlreadyExistsException is thrown at run time. 

Correct Answer: D 
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